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o FUI AT & T [ 57 FeT-U7 4 Fha g 16 T F97 39 &)

Please make sure that the printed pages in this question paper are 16 in number
and it contains 39 questions.

o U97-YH 7 e & @ G 9 T4 IS TR 7o e GH FTI-YraH # JEI-g=T 97 [

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T H TV TG J& V7§ Yeer, J9T H B AT [T
Before beginning to answer a question, its Serial Number must be written.
o FUT-YikTHE % &= H @Il §i/9 T 85

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT HF o de Tel T o SEvIRagEr & g st frar Fav T
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.
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o TR U AT To JeT-UH G Haed [i@ T To & SIRFT FIT-YH Y I FE A T
frd sit el g9t @GRl 9¥ el Jre @ 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o YT F97 % FT 37 @ g4 F FAkEd F A & Je7-97 [ T & 8, ThEr F ITT 59
T § #ig 4 @ whwre Tl A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G 59T -

General Instructions :

(9

(@)

(i)

()

(v)

(vi)

(vii)

a4 go7 Sfard &

All questions are compulsory.

T Jo7 & ofF I @ GT T &

Marks of all the questions are shown against them.
[ g97 & G4 GFT % GO T R 97 - A {0
Attempt all parts of a question together.

1 &% it J4% 97 # T el [aweq gaeT/ 0% i F o

Answer to each question carrying 1 mark by choosing the correct option /in
one sentence.

2 9% JIT J9% F97 [ FIT 30 Sl 7 3w T &l

Answer to each question carrying 2 marks should not exceed 30 words.

3 S7# art He% F97 # FAT 40 & 60 = G 9% T &l

Answer to each question carrying 3 marks should not exceed 40 to 60 words.

5 ¥#] g7 J9% §97 # 3¢ 100 @ 125 91 @ 37 7 &Y

Answer to each question carrying 5 marks should not exceed 100 to 125
words.
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(viii) 597 GET 38 % [T RY T4 [@9q % I@r ArfEE 0F 597 7€ 39 % g [T 7T Grd
& G T B FTH FA-GRIH & G AT GAT EAG

You must attach the given outline map of the World for Question No. 38 and
outline map of India for Question No. 39 along with your answer book.

(ix) PYFT T YT 77+ TAC-GReal & FH o797 [olEg

You must write your Answer Book Sr. No. on the map.

qls - %
SECTION - A
CEEERRL)
(Multiple Choice Questions)
1. ‘Prasa 8 @69 %er o § 7 1
(4)  oTEE (B) Efo To do Fo 5w ™
(C) «RT (D) TaspH AR
Who is called 'Missile Man' ?
(A) Aryabhata
(B) Dr. A. P. J. Abdul Kalam
(C) Bhaskar
(D) Vikram Sarabhai
2. AR Bl AT & o Ges as7 i-Ar o ? 1
(A)  HIiHE (B) #Rd
(C) =\ (D) TR
Which was the first country to recognize Bangladesh ?
(A) Pakistan (B) India
(C) China (D) America
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3. ‘Az J&v” fd HeIgey & Hal I & 1
(A) Uo AN Ae@ (B) GAN == 99
(C) HerEr e (D) TER Io9HE qed
Which great man is called "Iron Man" ?
(A) Pt. Jawaharlal Nehru (B) Subhash Chandra Bose
(C) Mahatma Gandhi (D) Sardar Vallabhbhai Patel
4. 9RA § TG TG AR B RAE F9 A B W ? 1
(A) 1956 (B) 1947
(C) 1950 (D) 1965
When was the report of the State Reorganization Commission implemented ?
(A) 1956 (B) 1947
(C) 1950 (D) 1965
5. HN-H M T Iaar, FaR ok 99 SR & Mo S © 7 1
(A)  TeTaH (B) dISME!
(C) lha=l (D) ¥ § H§ 7

Which system of governance constitutes an accountable, responsible and
legitimate Government ?

(A) Monarchy (B) Dictatorship
(C) Democracy (D) None of these
6. WY HiagM & IR § H-81 HUT Ta7 © ! 1

(A) TE g9 F N X AW Hl AR HIT 2l
(B) € UH g9 P A&hid g9 Sl &l

(C) TH A B HE A e AW B AEIE IAT B
(D) SWi a4t

Which among the following statements about Indian Constitution is wrong ?

(A) It prohibits discrimination on grounds of religion.
(B) It gives official status to one religion.

(C) It provides to all individuals freedom to profess any religion.
(D) All of the above
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7. FOEN-RY QYA HATERS e o 7 1
(A) 2,15,000 & fHoHio (B) 50,000 T fhoHio
(C) 1,15,000 & fHoHio (D) 3,15,000 @ fHoHto
What is the area of Saraswati-Sindhu Civilization ?
(A) 2,15,000 Sq. km. (B) 50,000 Sq. km.
(¢) 1,15,000 Sq. km. (D) 3,15,000 Sq. km.

8. ¥ Teisdl & TR fRE Fe o & ? 1
(a) =% (B) e
© W™ (D) & & #E T
Which is called the city of seven hills ?
(A) Mumbai (B) Cairo
(C) Rome (D) None of these

9. TMEARTAME & T&H b & 7 1
(A) T (B) g™
(©) R gaw (D) Y™
Who was the author of 'Ramcharitmanas' ?
(A) Kalhana (B) Tulsidas
(C) Amir Khusrow (D) Surdas

10. TR’ a1 6 a1 o § 1

(A) STE g (B) el Tl
(©) & T (D) MRS A
Which is known as 'Regur' soils ?
(A) Alluvial Soil (B) Black Soil
(C) Red Sail (D) Laterite Soil
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11. 9RAE 39 Sfed (o) e #9 g fear mn ? 1
(A) 1972 (B) 1960
(C) 1980 (D) 1990
When was the Indian Wildlife (Protection) Act implemented ?
(A) 1972 (B) 1960
(C) 1980 (D) 1990
12. ‘GftEm 9™ Red’ fa 79 § Rad & ? 1
(A) U (B) W WA
(C) ST (D) Tertd
In which State is 'Sariska Tiger Reserve' located ?
(A) Punjab (B) Madhya Pradesh
(C) Rajasthan (D) Gujarat
13. o8 AT &0 Siciehl sl TOTHS &S fopar T ? 1
() dr (B) fieat
(C) (D) g
Which language was declared as the only official language of Sri Lanka ?
(A) Tamil (B) Sinhala
(C) Malayalam (D) Telugu
14. SfoRen @ faesht ama dfaem @S- g & fawg § 7 1
(A) ® g (B) T T
(C) wwadt g (D) 3T & 13 &l
Defence and foreign affairs are the subjects of which List of the Constitution ?
(A) Union List (B) State List
(C) Concurrent List (D) None of these
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15. dfage & Rl & ofcar o el ATel i STgE W i ash e T B ? 1
A 11 (B) 15
(€) 23 (D) 21

How many other languages are recognized as scheduled languages by the
Constitution, besides Hindi ?

A 11 (B) 15
(C) 23 (D) 21

16. 2019 & g7 F fohe™ I W TSIT qoed & o ? 1
A 7 (B) 10
€ S (D) & q HE &
How many recognized National Political Parties were there in the country in
20197
A 7 (B) 10
) 5 (D) None of these

17. GFWIQ: el 39 @ famre e o oY fiRa fear s @@ & 7 1
(A) 9fd e "

(B) ofEd el @Y

(C) NI &l e Ref

(D) ST gt

Generally, on what basis can the development of a country be determined ?
(A) Per Capita Income

(B) Average Literacy Level

(C) Health status of its people

(D) All of the above
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18. Ui TSRl B SUART Hieh (hdll a&] B IR e &b Bl Ty & ? 1
(a) s B) fahs
(C) TiE® (D) AT TEnfeE
Production of a good by using natural resources, is the activity of which sector ?
(A) Primary (B) Secondary
(C) Tertiary (D) Information Technology

19. T e T e ¥ o X F7 Geia s ol fees e e o g 7 1
A) % F
(B) & &
(C) IR-HHR e &
(D) "R &

By whom are most of the decisions regarding savings and loans taken in Self
Help Group ?

(A) By Bank
(B) By Members
(C) By Non-Government Organization

(D) By the Government

20. IYHIF G AR, 1986 f6d T @ ARFE B 7 1
(A) COPRA (B) ISI
(C) RTE (D) RTI
By what name is the Consumer Protection Act, 1986 known ?
(A) COPRA (B) ISI
(C) RTE (D) RTI
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gUs - g
SECTION - B
(sf g ST ue)
(Very Short Answer Type Questions)
Wgﬁ%wwaﬁaﬂiﬁﬂaq@aﬁ%aﬂwwwg@wﬁﬁﬁ-ﬁwm
Sl 8§ 7 2

Name three states having black soil and which crop is mainly grown in it ?

SEE GOd M 2 ¢ & I8 FARY 2
What is Zaid Crop ? Name two examples.
A9HT | ST T G © 7 2

What do you mean by Globalization ?

-y T &l TR A B &) e fadwan w@ off ? 2

What were the two main features of the city plan of Saraswati-Sindhu

Civilization ?
WET & J& &9 AR fhes 7e7 gq § 7 2

When and between whom did the battles of Tarain take place ?

dihd=T & a9 Sea¥ Jaw F gaE T § ? §F HRY faRau 2

Why has democracy been described as the best system ? Write two reasons.
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gog - T
SECTION - C
(F8 & sraRa us)

(Case Study Based Questions)

27. 99 Ru M S & ufew &R Ru U s & SO v ¢

b ST HH H UE BIeT BN N U TS P &Y F @A g SN B O, STehd
qRG § ¥ T & daw 15 Ted ow T6E d w9 F W UH o &1 39 fhE w R
¥ Srpatell &7 &9 s @ @ee B 3@ g g8 dage fear S 81 g el o
Ry R H, Fac g Tl & The Mm% [ o §, 3ENT §% H HM 3aT T 9
MM | I S 2

d% S A D TH IS AT B FOT 7 B U A B ol AT STiiE afafiEt
% Q%07 B 95T A @A | dF T A B AN B RO FETERAN B G B B
f s6 #3d 81 39 X6, d% e g SAfiRed TR B (S T B i @ Ssted
© (FoRR) & <= AR H B A o 9% ST TX S AN ad & 369 Rl &N RO |

o B FeER @ T T @ R el B RY T S & A # SRR S H A
H 9@ A ol
Read the extract given below and answer the questions that follow :

Banks keep only a small proportion of their deposits as cash with
themselves. For example, banks in India these days hold about 15 percent of
their deposits as cash. This is kept as provision to pay the depositors who might
come to withdraw money from the bank on any given day. Since, on any
particular day, only some of its many depositors come to withdraw cash, the
bank is able to manage with this cash.

Banks use the major portion of the deposits to extend loans. There is a
huge demand for loans for various economic activities. Banks make use of the
deposits to meet the loan requirements of the people. In this way, banks mediate
between those who have surplus funds (the depositors) and those who are in
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need to these funds (the borrowers). Banks charge a higher interest rate on

loans than what they offer on deposits. The difference between what is charged
from borrowers and what is paid to the depositors is their main source of income.

(i) % H T B TP A FM o 7 1
What is the main sources of income of the banks ?

(i) ARG H d S AR F Fhee BE The & € H o 9 WA © ¢ 1
What proportion of their deposits does the bank hold as cash in India ?

(i) S ST R F 9gE w9 Qe wE H 3wE &Xd ©§ 7 1
What is the main use of bank deposits ?

(iv) SRRl SR FolaR & 9 AR H FH D HA 8 7 1

Who acts as a mediator between the depositors and the borrowers ?

e RT T I & afer oY BT T ge & I9R €
fecTm AT H TH Bl 29 2, A% § AR AT T | F Sen @b G

Wi, AEXaUs, S AR e @ W 8| FHH HERl UF HUs § Aigl A & Al
AT i TRl § HUT A 3H BiC @ A F AN Hl A SEC qgd e 81 a7 B
FA AEEI B 59 HIFE G W 30 § wdl & AR S ol ol AT 40 HIFEl AN
Jerar &5 & TEd & A WA Ao ol AT T Bl AN ST i 81 JeiE §8ed @ 80
HIEE AN B S & S 20 HIFE A S9 A

HTHEAE -1 AT G 9 § TRl TS S AhaaX (@ &1 d8d 918 # S
e faerrE IR R &1 o UM i o= A A g9 Refy § AReE o gEe Sew
1950 R 1960 & & # % AR 39 di a Y& & S 9 9% M FA Al
HUEEl & THE H GO dEl ®Y g9 § fGEn ¥ Uk @9 e @ aHedn O o9 qd
I A e & U @ SUEed SR & Al o9 X s @ AMA § HHEN AR
T F &1
Read the extract given below and answer the questions that follow :

Belgium is a small country in Europe, smaller in area than the state of
Haryana. It has borders with France, Netherlands, Germany and Luxembourg. It
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has a population of a little over one crore, about half the population of Haryana.
The ethnic composition of this small country is very complex. Of the country's
total population, 59 percent lives in the Flemish region and speaks Dutch
language. Another 40 percent people live in the Wallonia region and speak
French. Remaining one percent of the Belgians speak German. In the capital city
Brussels, 80 percent people speak French while 20 percent are Dutch speaking.

The minority French-speaking community was relatively rich and powerful.
This was resented by the Dutch speaking community who got the benefit of
economic development and education much later. This led to tensions between
the Dutch-speaking and French-speaking communities during the 1950s and
1960s. The tension between the two communities was more acute in Brussels.
Brussels presented a special problem : the Dutch speaking people constituted a

majority in the country, but a minority in the capital.

() == IR %o ol TEE F THE H TS dEl W9 Fel o far ? 1

Where was the tension between Dutch and French-speaking communities
more acute ?

(i) o B G e I F R E 7 1
(A) 3 (B) 4
€ 5 (D) 2
How many countries does Belgium share its borders with ?
(A) 3 B) 4
€) 5 (D) 2

(iil) == 9 AW BN B G AW A AREN A ? 1
(A) == TgHEE &

(B) Wd A STUHEH |
(C) % A TN s & | TIRT T& SR qrebaaX |
(D) TT AT QN Gedrr Al
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Why did the Dutch speaking people resented the French-speaking people ?
(A) Dutch were in majority.

(B) French-speaking were in minority.

(C) French-speaking people were relatively more rich and powerful.

(D) Dutch-speaking people were conservative.

(iv) Sfcorm & o ofded A S aed © ¢ 1
(A) 1% B) 59%
(C) 40% (D) 20%
How many percent people speak German in Belgium ?
(A) 1% B) 59%
(C) 40% (D) 20%
g -
SECTION - D
(g Swda we )

(Short Answer Type Questions)

T AT B Tg e IS i Fer e & ! Seeeer | &R 3
Why are dams called multipurpose projects nowadays ? Give example also.

1857 @l Zhifcl % 17 HIROT ST 3
Give three reasons for the Revolution of 1857.

el g5 & I H Th Gier fewe i 3
Write a short note about Mahatma Buddha.

ARAE HiAaE & &7 T S0 S ARG B GHMIE a9 S © 7 3

Name the three provisions of the Indian Constitution which make India a
secular country ?

qd ¥ qded I W gt e faian 3

Write a short note on tourism industry in India.
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gus - ¢
SECTION - E
(Frereom® 999)
(Essay Type Questions)

34. 9RA § AIBLT & 1 AH W 7 5
What were the benefits of Globalization in India ?

AYAT
OR

JUHIT & AR, 1986 (COPRA) # U U Iuwiedl H™HRI H1 qui i)

Describe the Consumer Rights mentioned in Consumer Protection Act, 1986
(COPRA).

35. TEMYARE % ARG W 1 J9E T8 7 5

What were the effects of Imperialism on India ?

AYAT
OR

Tegeh | BT fqRell ROl % ARG Wl q9E Us 7

What were the effects of foreign invasions on India during the medieval period ?

36. SHIG® &0 HT & ¢ T ao & Qe gAreEr © 7 5

What is a Political Party ? What are the challenges before political parties ?
HAYAT

OR
ST & & T9@ & H; 8 7
What are the main functions of a Political Party ?
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37. PV IAEAT H giE W & T TN SR F1 309 & Q@ ? 5

What measures were taken by the government to increase agricultural
production ?

3TeE
OR

qRd & Ie-37F & [9aXer & avie Hife)

Describe the distribution of Iron-Ore in India.

gig - 9
SECTION - F
(AT g SR 999)
(Map Skill Based Questions)

38. RU T Qyg & Y@ TNRE W & UEN gwgdel #l auiEy 2

On the given outline map of the World, show two ancient civilizations.

39. RU T grg & Y@ gNRE W FEfied e @ geiEe

On the given outline map of India, show the following places :

(i) SHAEYT 1
Jamshedpur

(i) foamE 1
Bhilai

(i) HETEH 1
Bhadravati
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(Faw gRedH qlenieiEl & )

(For Blind Candidates Only)

Fe : [T 997 A gReET GOEIREl % [T 597 FEq 38 V39 % ®&IT UT &

The following questions are only for Blind Candidates in lieu of Question No.

38 and 39.
38. (i) M9 T B IEH FE TR TR H FaT ST S 7 1
Which ancient civilization is said to be blessed by the Nile river ?
(i) AT A B A aqHe A fha 9 w1 v & ° 1
The area of Mesopotamian civilization is currently a part of which country ?
39. (i) oRgs Iy e T F R B 7 1

In which State is Hirakud Dam located ?

(i) foeE © <ie 5 T g 7 ? 1
In which State is Bhilai Steel Plant located ?
(il) =Ts SEme fha oy § fug B 7 1

In which State is Chennai Port located ?
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